Приложение1.

Задания для групп первого состава.

1 группа.

Решить уравнения.

а) 7х = -95,4 – 2х

б) 5b + 85,6 = -3b
в) 1,2x – 0,6 = 0,8x – 27

г) – 8x – 3 = -6x +10

д) – 19c = 11c
2 группа.

Решить уравнения.

а) -4(7 –с) = с + 17

б) 8(30 – 7х) = 352

в) 5(3а + 1) – 11 = -16

г) 7(с + 4) = 6( 3с – 2)

3 группа.

Решить уравнения.
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Задание для групп второго состава.

Решить уравнения.

а) -12х – 5 = -8х +16

б) 8у = -62,4 + 5у

в) 3( у – 2) = 8 (3у – 4)

г) 3( 4х – 8) = 3х – 6
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Ответы.

Ответы 1 группа: а) -10,6; б) -10,7;  в) -66;  г) -6,5;  д) 0.

Ответы 2 группа : а) 15;  б) -2;  в) -
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Ответы 3 группа: а) 
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;  б) 18;  в) 15; г) 
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Ответы к общему заданию: а) -5,25;   б) -20,8;    в) 
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;   г) 2;   д) 3;    е) 10,5.
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